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Full Marks : 50
Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1x4=4
@) R e vl 2rey T fimy

(@) Define rank correlation.
& FTFHRS R e |

(b) Find geometric mean of 8 and 2.
8 H[F 29 QLTSI MY Bfrean |

(c) Define median.
TR AR A o
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(2) _ (3)
(d) Fin,
m::l fange from the following - 3 (¢ Mention two  disadvantages  of
o g RN oy 8¢ : arithmetic mean. :
150 St
» 100, :
(€ What ; 00, 200, 400, | FAMGT TR o1 SPIRY Teard 4 |
at is skewnesSp
B ' | (d) Mention two measures of dispersion.
(7 Mention one merit of scatt [RLRER ol Wief BTard 391 |

ﬁ%ﬁﬁ@qdﬁ er dia
gram.
Q”Ww, E (e) What do r=0and r=1 mean?

(@ Can correlation

c ; 1
than one? oefficient pe greater | r=09% r =1 & @2
TR ‘
BIRF GFOLT Trey R g 9 () Distinguish between an estimate and an
(h) Wha is parameterp : ‘ estimator.
At 2 SR S SRR WO A e
2. An
Swer any three of the following questions :
we] R S 3. Answer any two of the following questions :
CCN OBt 2h Tag foy - 2x3=6 ‘ 5x2=10
(@) Write two uses of MS-Exce] oo R T g1 op T fia
-Excel, -
" MS-Excely o IR oy | (@) Find median from the following data :
Fi
Er;n;l mode from the fo]) owing dats - oo SR R W S :
Al T %ﬁ[\gaf : Marks No. Of Students
X (R) (2a-=ET RY)
f ((f'equency) 10 8
5 TR 20 15
10 2 30 22
15 6 40 20
20 173 50 10
60 5
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(b)

(c)

(d)

(e)

—
——
——————

(4)

2?18.111 the merits of mode as a
asure. of centra] tendency

R e .
. T Rt TR gepTR

mean from the

WMWWW@

Explain th
Sp 5 r:nk Mmain  features of
arman Correlation coefficient.

Eﬂ{m
I 7 | BMFT & RMEFTR

What g
an .
Explain, Unbiased estimator?

S 153 @ s 2 oo e |
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(5)

(p) Find arithmetic mean :

e W Sfrea
X f
0-10 5
10-20 10
20-30 25
30-40 30
40 - 50 20
50 - 60 10
() Find mode from the following data :
To BN [ I Oferedl
Size of Garment No. of Persons Wearing
(com=rd oY) (RT3 S’R30)
28 10
29 20
30 40
31 65
32 50
33 15

(d) Calculate standard deviation from the

following data :

©o T O~ I fveiw Sfereat
Profits (¥ Lakh) No. of Companies
S (&1 Bere) (G2 7%
0-10 12
10 - 20 17
20 - 30 23
30 - 40 39
40 - 50 16
50 - 60 03
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(6)

(e) Calculate Karl Pearson’s coefficient of

skewness :
T PPrTeeY SifFeR @ae Sfenea
X f

12-5 28
175 42
22-5 54
275 108
32:5 129
375 61
42-5 45
47-5 33

() Discuss how scatter diagram method is
used for studying correlation.
TTRE IREEE A P BI wm Rwg
YT 9 A, SLEABA 49T |

(g9 Find Pearson’s correlation coefficient
from the following data and interpret

the result :

TR O [l PRIt T Qe SRjea
HIF FAFEO! TR 40

Marks in Economics Marks in Statistics

(4T 779) (1Ro==T R 7))
48 45
35 20
17 40
23 25
47 45
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(7)

(h) From the following data, obtain the two
regression coefficients :

o O *A1 TR BN Kol Sferea

I
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